

pcnou
Caja de texto
buy on www.cablematic.com

pcnou
Rectángulo


Ibuy on www.cablematic.com |

Spare parts

22
<

1 |FIXEDPLATE

2 |SCREW M5*P0.8*L7mm

\EQQ%Q\
L}
-t
o
=

3 LPLATE

4 |ADJUSTMENT PAD

> S

5 JUNCTION SCREW*L300mm

6-1 |SCREW M5*L35 FOR PDP

SCREW M6*L35 FOR PDP

o

A E— .
*
n

6-3 |SCREW M8*L35 FOR PDP

N
< 7-1 |SCREW M5*L15 FOR LCD
7-2 |SCREW M6*L15 FOR LCD

SCREW M8*L15 FOR LCD

8-1 WASHER @ 6* 16 FOR PDP

/
/
_n

N

w

] 8-2 WASHER © 8* 18 FOR PDP
SPRING WASHER )5 FOR PDP

D €
\IO
—_

9-2 |SPRING WASHER 6 FOR PDP

9-3 |SPRING WASHER 8 FOR PDP

10 [SLEEVE @ 8.5* © 15*L20mm FOR PDP

DDA IDIDIDIDID|D DD DN

\EJ‘ (r~——=—-j — s unj-



pcnou
Caja de texto
buy on www.cablematic.com

pcnou
Rectángulo


